BREMACH,

BREMACH,

KUEHLUNG MOTOR E4 F1C



BREMACH,

Pos Code Beschreibung Menge
1 91H2050 KUEHLER (RADIATORE ACQUA F1C) 1
2 96H9203 KUEHLER (RADIATORE ARIA F1C M.Y. 08) 1
3 96H2003 FOERDERWERK (CONVOGLIATORE ARIA INT. (F1C) M.Y.08) 1
4 96H2009 GUMMI (GOMMINO) 1
5 16883405 SCHRAUBE (VITE AUTOF.M6 FISS.CONVOGL.) 6
80 91H4038 MUFFE (MANICOTTO SUPERIORE RADIATORE F1C) 1
81 96H4007 MUFFE (MANICOTTO SUPERIORE RADIATORE F1A) 1

135 96H2007D BUEGEL (STAFFA DX SUPPORTO RADIATORE F1C) 1

136 96H2007S BUEGEL (STAFFA SX SUPPORTO RADIATORE F1C) 1

148 96H2014 BUEGEL (STAFFA PER F1A) 2

149 16772804 SCHRAUBE (VITE M6X16) 4

150 96H2011 BUEGEL (STAFFA PER RADIATORE) 2

151 203102 RING (RONDELLA PIANA 5X16X1,6) 2

152 202002 MUTTER (DADO M5) 2

153 201004 SCHRAUBE (VITE M5X25) 2

170 18139124 SCHRAUBE (VITE TEF M6X70) 8

KUEHLUNG MOTOR E4 F1C




